DESCRIPTION: HIGH DENSITY - MACHINED CONTACTS - VERTICAL

MATERIALS AND FINISH:

C £0.008 SHELL: STEEL MATERIAL, NICKEL FINISH
INSULATOR: (SEE DIM. CHART) = 260°C PROCESS TEMP,
UL 94V-0 RATED, BLACK
- B 0008 — = CONTACT MATERIAL: BRASS
— 0.311:0.008 [7.90] CONTACT FINISH: SEE PLATING PART NUMBER KEY BELOW
A £0.008 ————=
— |=— D ELECTRICAL:
PIN 1 — 0.492 £0.008 [12.50] CONTACT CURRENT RATING: 3 AMPS
W\ \ CONTACT RESISTANCE: 10 MOHMS Max.
s \ \ T A DIELECTRIC WITHSTANDING VOLTAGE:  1,000VAC Min.
(000000000000000 /00000 ) INSULATION RESISTANCE: 5 GOHMS Min.
— 06660606060 - A .
‘9|\_°0°@g@°gco s cgggcce_/ ©1 TEMPERATURE RATING: -55° ~ +125° C
_ \ \ J 1

\
\I\/ o |
10°

0.228 [5.80]
| 0.031£0.008 [0.80]

180-MYY-2YYRYYY

N\
[ | ) ) ] { SERIES
—F ——F MACHINED CONTACTS
L N4 J f l POSITIONS
15
SR, :
@0.026 [D0.65] 44
0.195 [4.95] 62
REF GENDER
0.256+0.012 [6.50] 2= FEMALE
CONTACT LENGTH
1=0.256"
; A=0.140"
DIMENSIONS (in.) SHELL PLATING
No. OF Insulator 3 = NICKEL
PINS A B ¢ D Material
15 0.642 0.984 1.213 0.090 PA9ST H%EQV’\\/%RﬁA%F[’)WZF\Fl{Sé 5120 TOLE
26 0.969 1.311 1.543 0.090 PAOT 01 = .098" CLINCH NUT (BOARD SIDE)
44 1.512 1.852 2.089 0.090 PA9ST 02 = 236" CLINCH NUT (BOARD SIDE)
62 2.157 2.500 2.732 0.095 PA6T 03 =.236" CLINCH NUT (MATING SIDE)
05 = .224" BOARD LOCK (BOARD SIDE)
DIMENSIONS (mm) S5 = .237" BOARD LOCK (BOARD SIDE)
No OF irsUlator 91 = 224" 4-40 SPACER/BOARD LOCK
PINS A B c D Material 92 = 237" 4-40 JACK SCREW // BOARD LOCK (.093" PCB)
ateria PLATING OPTIONS
15 16.30 25.00 30.80 2.29 PA9T 1= GOLD FLASH, ENTIRE CONTACT
26 2460 | 33.30 39.20 2.29 PA9T 2 = 30u" GOLD, ENTIRE CONTACT
44 3840 | 47.05 | 53.05 2.29 PA9T 3 =50u" GOLD, ENTIRE CONTACT

62 54.80 63.50 69.40 2.41 PAGT

ReRS COMIPLIANTT UNITS =inch mm] DO NOT SCGALE FROM DRAWING
THESE DRAWINGS AND SPECIFICATIONS ARE | DRAWN: SCALE: SHEET OF REV
NorComp feew - 2
APPARATUS WITHOUT WRITTEN PERMISSION. 03/16/2007 1 80-MYY-2 1 YRYYY




DESCRIPTION: CLINCH NUT HARDWARE

ALL CLINCH-NUTS ARE 4-40 INTERNAL THREADS

01.... 0.098" BOARD SIDE

0.141[3.60]

ol

0.098 [2. 50]
REF

05..... 0.224" BOARD SIDE

0.267 [6.78]
REF
0.224 [5.69] J
REF
92 ..... 0.237" BOARD SIDE
0.189" MATING SIDE
0.189 [4.80]
REF

S
T
0.093 [2.36] J

REF

0.237 [6.02]
REF

NOTE: 4-40 FEMALE SCREW LOCK IS REMOVABLE

RoRlS COMIPLIARNIT

02... 0.236" BOARD SIDE

0.280 [7.10]

% )

0.236 [6.00] J

REF

S5.... 0.237" BOARD SIDE

0.280 [7.11]
REF

0.237 [6.02] J

REF

03.... 0.236" MATING SIDE

0.236 [6.00]
REF

0.279[7. 10]
REF

91 ... 0.224" BOARD SIDE
0.189" MATING SIDE

0.189 [4.80]
REF

4

0.224 [5.69] ]

REF

NOTE: 4-40 FEMALE SCREW LOCK IS REMOVABLE

05, S5, AND 91 HARDWARE OPTIONS DESIGNED TO BE USED WITH STANDARD THICKNESS PCB (APPROX. 0.063") |

UNITS = inch [mm]

THESE DRAWINGS AND SPECIFICATIONS ARE
THE PROPERTY OF NorComp AND SHALL NOT
BE REPRODUCED, COPIED OR USED AS THE

DRAWN:

DO NOT SCALE FROM DRAWINEG

APPARATUS WITHOUT WRITTEN PERMISSION.

BASIS FOR THE MANUFACTURE OR SALE OF | DATE:
03/16/2007

NorComp ==

SCALE: SHEET OF REV
NTS 2 3 28

180-MYY-21YRYYY




DESCRIPTION: PCB LAYOUT - HIGH DENSITY - MACHINED CONTACTS - VERTICAL

1.852
0}
-984 926 655 ——
o} 1.312
|=— .605 ———=— .565 —|
492 ¢
215 |=— .656 .385 515 475
'145 .335 295 425 .385
*30.126 '125 .245 .205 .335 .295
MINIMUM '055 .155 115 .245 .205
’ .065 =T .155 115
t .035 t .025
.065 —T
c olo|a|o|o () C) ololofo|d|o|o|o|o C) .025
oofpoo 0oo00b00O0O
010]0]0]0]0]4]0]|0]0|0]|0|0|0
' i °°‘T?\\_ °°°T°°°° (O |ooooooopooocoocoo ()
.010 20.043 % .020 B 070 0000004000000 0
&8 080 110 S : 020 |
S -y 070
100 — = .200 .160 110 [~
170 —— .290 =— .250 .200 160
190 — =— .380 .340 .290 .250
.380 .340
15 POSITION 26 POSITION 470 430
.560 .520
2-5(200 |— 650 ——1— 610 —
1.250 9745 44 POSITION
.9255 .8795
|=— .8305 —=——=— .7845 ——
|=— .7355 ——|=— .6895 —]
.6405 .5945
.5455 4995
4505 4045
3555 3095 HOLE PATTERN SHOWN
2605 2145 ARE FOR FEMALE
';gg: — - 1195
’ t .0245
o|o|o|o|o|o|ofolo|o|d|o|o|o|o|o|o|o|o|o]o
O 0000000000po0ocooooooo ()
000000000d0000000000
023 H % TYP.
118 T 072 SUGGESTED SIZE
'213 167 MAY NOT BE SUITABLE FOR ALL APPLICATIONS
.308 .262
403 .357
.498 452
.593 547
l=— .688 ———=— .642 —
f=— 783 ———=— .737 —
.878 .832
973 .927
62 POSITION

oS COWIRLIANTT UNITS = inch DO NOT SCALE FROM DRAWINEG

THESE DRAWINGS AND SPECIFICATIONS ARE | PRAWN: SCALE: SHEET OF REV
THE PROPERTY OF NorComp AND SHALL NOT C. SMITH NTS 3 3 28
BE REPRODUCED, COPIED OR USED AS THE N O r' O m p

BASIS FOR THE MANUFACTURE OR SALE OF DATE: DWG NO.

APPARATUS WITHOUT WRITTEN PERMISSION. 03/16/2007 1 80-MYY-2 1 YRYYY




	180-MYY-21YRYYY_rev28_p1
	180-MYY-21YRYYY_rev28_p2
	180-MYY-21YRYYY_rev28_p3

